EEw s faw# 1 e

_Ls_(ﬁ\) 50900 = € = A¢: 2236V

Alt) = e[ 14w (8]

= ZZ\SQ{[ + Al <Cogwi + (g ZW(‘&S]

(b 4o G d w1 % (8) = 04 B rrece

| dutel .
B = 10 = ~4MB -4
@:‘> -4mO = Hosmnboe O
o = /OH[|§O
Ao, = 223601+ 24, X (1o4.5°) = - /125
A= 2236 [1-1125A, |
A -
ﬂo - AM&\* A LA _ g’ ZS
- Ao A= 57

(6N Auany = 22360 1+ 20506)] = 42117 wlfs

- A
Tomay = /§O* = 96.2%% ijag

<SU(S> = <ZZ 36 g/ +.576 ({déw,f 1 ¢ Zw,fﬂ

| . cos e, T
= O Lor We NS W,

Lo T 2 Mg

163




e /}//A/%‘ﬁ pae 2

v 5“7.[(0\3‘ NGB -4 ¢ MZ{\:Cosw(% +_Zcq>e2w,f o

g(ﬂ = [COSM,JC b (oS Zwﬂcz oS wczf

P —
U_}ff\p/f@ W, = (OOOT/\

~

_ %(W\SEC’)#.

A

- iz [Cdé (w, -w )t b cos(o, +w5f(
+ cog@ Zw\% +C@g(wc+2wﬁ
5-7 () CGowt’d L

Ste) - Pl ALSH -Gt ) # SO CAD It £l 4351 ]
+ L [0 64220 S G283 fn A R4 25)

S& |,
for £70 ‘_‘l ‘[\ | ]‘
o 2?' = T 1, T . o
fo¥h f5 fo 46 fag 7
7’4v 4R T4 /H(//] - /2.5/4/

7% m

_ BT gW
W) 4, =3 P PR =g =2l




1
|

FE 94 3 Chpt 2,

i

A = = onlt) e 2afat + L=

wWhe/ze.
X[t) = ﬂ&[ﬁ/&,ﬁ[%}j&% wet-

{//) = X _)/571) =2Hh K, Mf/%/écéb we -

B/ s a PSBSc /57%&//

Pabh. o & /3

A&/%/WQ////L

o (1) = ;’/éyﬁ/f/%

/ﬁé@w e =1 Y,

A = sees 2

éﬂ) v fe) = T o))

AU = =gy -
%"5& [5tr-7) - 31417
zgg“[ﬁf'ﬁ) 97/7‘/]

Al = ETIR)T = 5 T 27T

» s%f{ [s1E#, +5/sz%)]f




leraas  emp2 s g 7 Srred

/P/w/y% RWE: m%"/j
b) ) =L byt b et T L Sineyt st | (VD

porm g Loz (;A/&/ = it f 4 %—,’ow/%‘wﬁ
e /éytg/‘{/

/5/,[7[/ = % 5@[( Wa—w/)%j (/?)
0) %’LWO — SﬁZéK B E/Z g/_ﬁ__’_q_ 3/?7/749

iz 4z
/ ) = ek = 5/, L ols

572 (57 (2 g

. /7 ;= Jg_i/f—- = /‘i/,«:., ﬂ/ﬂl,é
) o = =g z

7) FEF =7

ting eg @) Jiwd T enrelojre

z 5, L

- )/) J

FEVP = L [May al)] = L% 75 |

[ ] 2 = F_{ ch//;

- Z 25 |
5&?%‘4 — P”V = ,_(:{E_)_« £




I
!
i
|
i
|
|

5.4)

L

4

[T Se

JHe poachde— o fo s TEA

W) DS £eC ;wagﬂﬁgwa
777 ‘ v ) -
| f‘éD DsEse -
v b S el et St (> |
z 7 LL> - <_4P Es Wit o (E |
fp [t € we |
[pssse - <7
; 2
= A7 S EHD > (Y
7
Y ) = 1B ] G2 et
P

alt/

ST X I/W /f)j

1 J o el B P Eret
= 1 g2 pwiafeo— |

S‘D_AP

a L1+ mec (»0)] = 27

Z [t =
ari (PeF] 4
:> /44’ = —:‘2—“
7I B |
ep) = L7 )
(/7 I

/} 4 &@W@ZL
;%f&/%Wd%f’iW[// _ |

\/J—J

Z

1) - |

9) < |

. ﬁi /W7Z[f) MLW@% >
5‘4 (SB) 7 <2 ' G 415 7,
| | | i by
= A gedwets LB > 2 50 :/?
‘ z
| Yo 4F o .
7 /ig 55;5 - B ;24 2(7‘) > _ _ g/j
Farg (58) L Lo L) |



